INFIQ GRADE 1 WORKSHEETS

Advanced Addition - Word Problems

Name Date

Solve the following word problems.
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Jake had 10 tomatoes. He got another 4 tomatoes. How many tomatoes

' does Jake have now?
: tomatoes
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Nicole had 4 watermelons. She got another 3 watermelons. How many
. watermelons does Nicole have now?

.

watermelons
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Jennifer had a dozen of bananas. She got another 6 bananas. How many y
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' bananas does Jennifer have now? Kﬁ
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bananas
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Jay had 6 pineapples. He got another 2 pineapples. How many

pineapples does Jay have now?

pineapples
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